XS
Ty
HEXE
1o | 2% DM L HE(Hs)
2X4A 25 N LIESY 557 (54)
2X4 30 S A2 55° (HA)
3.5A 35 U SBE 55 (HA)
3.5X7A 40 F E2QE 700 (MM SA)
At > NE | =04 UEd 707 (BANARE SA)
o 80 SE | =A4 MElE 55 (HMniE R 24)
8A 95
10A 120
15A 150
15 200
Tl A
YR+ = (B9 mm)
04 . 04
03
02

15
15

|
|

o K
S - < Ty -t
4 —
|
El @ ) 012
e 012
02 035
PFG-1.5A PFG-2A PFG-3.5A
4
62
- 012 o6
+— 04
28
|| - » 026 | 28
7] - x
| -
2 42 J

4
o
—
PFG-2X4A
PFG-2X4 PFG-3.5X7A
m Pneumatic 283



(24| : mm)
il 05 ©75
o7
ko w——)' 6
5 . 06
»35 1}
015 04 2%
o~
= « -
1] o |
o [ © L |
0 [ H J_
N ; [ ! l
o]
3 014 = o2
o 5 96
™
PFG-5A PFG-6A
PFG-3.5X7
085 09
98 r—”ﬁ ’( —
%6 04 04
- e |
L — L 3 — x
o] Q — Ny \
o] B i o \
i [ o ! - @
N$ . | ol : © 4
X ] | o L ¥
A 1
w.‘ '
- o2 o 62 02
48 410 le 015 .
PFG-8A PFG-10A PFG-15A
%12 015
046 04.6
—— L :
d — 7 —
. °
— &
|
3 1 L
i ' \
i ! |
a 3
| 078 108
015 920
PFG-15 PFG-20

Parker RS

284



EEHE /PFG A2 =

SHElIAC
R X|+== (42l - mm)
¢ 16
®15
e 06
06
1
I —
- s | !
HRR |
CRRAKK | l i s
R J
! 1
I N “ i
o ! I :
o~ 1
©10.8 011
920 . 026
PFG-20B PFG-25
914
21
5 [
8
/ I :
. ) | . —
: \ o !
2R i = S
2 1
J |
o | I
T ™
l 1
o011 ®11
929 35
PFG-30 PFG-35
. 927
| 08
| ‘
£ 4 —_"
= = R |
i @
L |
<
. i i :
= et L ¢20
©40 450
PFG-40 PFG-50
m Pneumatic 285



0125
| . e B

PFG-60 Pro-e

956

pe—

PFG-120

PFG-200

PFG-150

m Pneumatic 286



I
X B 5
FE=YA
XD x|= HISE
feHE ge e xl= TENE W HE(Hs)
T EHISE J"'HEME _
;:r; 1.5A 30 N HEZ 55 (B4)
! === 2A 35 B 2|2 55° (A
3.5A 20 u LB EHE5° (BA)
%4 50 F EZ 28 70° (WNDIIEESA)
3.5X7 60 NE SEM LEZ 70° (HMOt3REEM)
5A 80 SE TN ME[E 55° (HAnt3RE SA)
6A 95 K 27 ME(PFG, DF LA A 2|)
8A 100
10A 120
15 150
20 200
25
== A= o
RdRX+E (40O

5 20 10
40
— —
08
H
- F
_ K
~
o 5
a !
[£] z*
ﬁc‘L—M

PFTK-5A/BA/8A~10A

@ ERE AAMOIZE axbE B7|
by
PFTK-2X4,/35X7

4G
oH

PFTK-15,/20,725./30./35/40./50

Parker RS



e
M
£l
In
~
Kl
0
1=

27 Bat

& / PFTK / PFYK Al2|=

06

M

]
K
o H, : o
€ ‘ o
!
Z }
Z E ,—lﬂ
°
-} : |
g i
PFTK-60,/80,/95
(T2l - mm)
&9 A B c D E F G H | J K Y z ()
PFTK—1.5A 35 | 235 4 3 M5x0.5 | 2.8 | 1.2 |85 | 8 | 7H | 0.4 8
PFTK—2A 2 23.5 3 / M5x0.5 | 2.8 | 1.2 85| 8 | 7H | 0.5 8
PFTK—2x4 2x4 | 247 | 1.7 | 6.5 / M5x0.5 | 2.8 | 1.2 |85 | 8 | 7H | 0.5 8
PFTK—3.5A 35 | 235 4 3 / M5x0.5 | 2.8 | 1.2 85| 8 | 7H | 0.5 8
PFTK—3.5%X7 [3.5%x7| 255 | 2.5 | 6.5 / M5x0.5 | 2.8 | 1.2 85| 8 | 7H | 0.8 8
PFTK—5A 5 305 | 6.5 | 14 / M9x0.1 5 | 25|10 | 12 |12H| 0.8 11
PFTK—6A 6 305 | 6.5 | 14 / M9x0.1 5 | 25|10 | 12 |12H| 0.8 11
PFTK—8A 8 31 7 14 M9x0.1 5 | 25] 10 | 12 [12H| 1.2 11
PFTK—10A 10 46 | 7.5 |22.5] 10H | M9x0.1 5 3 |16 |155|12H | 1.5 15
PFTK—15 15 46 8 22 | 10H | M8x1.25| 5 3 | 16 | 15 | 10H | 1.9 | M5%0.8 20
PFTK—20 20 48 10 | 22 | 10H |M8x1.25| 5 3 | 16 | 15 | 10H | 2.3 | M5%0.8 20
PFTK—25 25 62 14 | 32 | 14H |M10x1.5| 5 3 | 16 | 20 |14H | 3.0 | M6X1.0 40
PFTK—-30 30 60 12 | 32 | 14H |M10x1.5| 5 3 | 16 | 20 |14H | 2.0 | M6X1.0 40
PFTK—-35 35 62 14 | 32 | 14H |M10x1.5| 5 3 | 16 | 20 |14H | 3.0 | M6X1.0 40
PFTK—40 40 62 14 | 32 | 14H |M10x1.5| 5 3 | 16 | 20 |14H | 3.5 | M6X1.0 40
PFTK—-50 50 63 15 | 32 | 14H |M10x1.5| 5 3 | 16 | 20 | 14H | 4.0 | M8X1.25 50
PFTK—60 60 |58.5 |18.5| 40 |21H|M16x1.5|Rc1/8| 5 23 |21H | 5.0 [M10x1.25| 130
PFTK—80 80 |60.5 |20.5| 40 |21H|M16x1.5|Rc1/8| 5 23 |21H | 6.0 [M10x1.25| 170
PFTK—95 95 61 21 | 40 | 21H|M16x1.5|Rc1/8| 5 23 |21H | 6.0 [M10x1.25| 220
m Pneumatic 288




It 2= X e H xS =
BFEIE / 0FA F7 22 / PFTK / PFYK Al2
1l A
YR+ =
(=
| F
B - i f
F |
E |
g 3 L
[=]
m
o T
R=3 R=4 |
--------- * o |
: B AfO| == AHEZO|
= 220 9l g2
- EIRE AAO| ==
ol m'A axbZ HA|
S OA
PFYK-1.5A/2A/3.5A PFYK-2X4,/3.5X7
0K
| F
riﬁu /_
—
213 £
| L Ja}
------- 58]
M5Xx0.8 -7
‘ 3
i‘i o
} 4
' !
ok |
PFYK-15,720,725,30,735,/40./50
086
| 922
‘ M12x1.752/0]18
Rc1/8 23 o ojm=1g
=
Jlj ©
- .
o JELLE al 7|
—Z : | C 4
{ Tt T
010
[k ¢ 100
: i
| ) oA L 0104
PFYK-60,/80,795 PFYK-100

Parker RS

289




HEHE / 0FA FF 2EY /PFTK / PFYK Al2][=
IR 1
T
| Lo
| | o T
olei= 65 & O ‘
0| !
, O ST T e
T '
f !
P s
= L
T | L T 1
PCD40. ‘
le oA ‘
PFYK-120 / 150 / 200
(% - mm)
&9 A B ¢ D E F G H I J K Y z EEC)
PFYK—1.5A 1.5 20 4 16 | 5H | M3%Zol5 | 2.8 [ 1.2 | 11 | 11 0.4 3
PFYK—2A 2 20 4 16 | 5H | M3%Zol5 | 2.8 [ 1.2 | 11 | 11 0.5 3
PFYK—2x4 2x4 | 21.7 | 1.7 | 20 | 5H | M3Zol5 | 2.8 | 1.2 | 11 | 11 0.5 3
PFYK—3.5A 3.5 20 4 16 | 5H | M3%Zol5 | 2.8 [ 1.2 | 11 | 11 0.5 3
PFYK—3.5X7 [3.5x7| 225 | 2.5 | 20 | 5H | M3%o|5 | 2.8 | 1.2 [ 11 | 11 0.8 3
PFYK—5A 5 29 | 6.5 [22.5|10H | M4Zo0l6 5 3 |21 |13 ] 10|08 16
PFYK—6A 6 29 | 6.5 [22.5|10H | M4Zo0l6 5 3 |21 |13 ] 10|08 16
PFYK—8A 8 295 | 7 [22.5/10H | M4Zol6 5 3 |21 |13 10|12 16
PFYK—10A 10 30 | 7.5 [22.5|10H | M4Zo0l6 5 3 |21 |13 10|15 16
PFYK—15 15 30 8 22 | 10H | M4Zlol6 5 3 |21 | 14 | 10 [ 1.9 | M5%0.8 20
PFYK—20 20 32 10 | 22 | 10H | M4Zlol6 5 3 |21 | 14 | 10 | 23 | M5%0.8 20
PFYK—25 25 46 14 | 32 | 14H | M6Z0[8 5 3 | 23|20 | 12 |30 | M6X1.0 40
PFYK—30 30 44 12 | 32 | 14H | M6Z0l8 5 3 | 23|20 | 12 |20 | M6X1.0 40
PFYK—35 35 46 14 | 32 | 14H | M6Z0[8 5 3 | 23|20 | 12 |30 | M6X1.0 40
PFYK—40 40 46 14 | 32 | 14H | M6Z0[8 5 3 | 23|20 | 12 |35 | M6X1.0 50
PFYK—50 50 47 15 | 32 | 14H | M6Z0[8 5 3 | 23|20 | 12 | 4.0 | M8x1.25 55
PFYK—60 60 | 58.5 |18.5| 40 |21H | M8Z0[11 |Rc1/8| 5 28 | 17 | 5.0 |[M10x1.25| 120
PFYK—80 80 | 60.5|20.5| 40 |21H | M8Zl0|11 |Rc1/8| 5 28 | 17 | 6.0 |[M10x1.25| 160
PFYK—95 95 61 21 | 40 | 21H | M8ZO0|11 [Rcl1/8| 5 28 | 17 | 6.0 |[M10x1.25| 210
PFYK—100 I N 1 | | 140
PFYK—120 120 | 75.5 | 25.5 | 50 | 70 |M1620/20|Rc1/8 38 | 30 | 6.0 | 4-M8 640
PFYK—150 150 | 82.5 | 32.5 | 50 | 70 |M16%0/20|Rc1/8 38 | 30 | 9.0 | 4-M8 910
PFYK—200 200 | 87.5|37.5| 50 | 70 |M1620]20|Rc1/8 38 | 30 | 13 4-M8 1200

Parker RS

290




PFTKM-1.5A72A 72X 4A,73.5A/3.5X7A

PFTKM-15,720,/25,/30,/35/40,/50

EFRIE A ALO

axbZ HA|

==

PFTKM-5A /6A/8A/10A

PFYKM-2A /2x4 A /35A /3.5x7 A

ASFHE Wet x| ol 7=
- HexE & 3l ZZ(Hs)
. ::rft 1.5A 10A N HEE 55 (%4
Y 23 éA 5 S A2 2 55° (1K)
3 A 20 u S E55° (M)
2>l<4A > F EF22 70° (HM03 R SA)
NE =Y UER 700 (BMOI3 A SM
3.5X7A 30 A A= fre (RA Zirﬁm
5A 35 SE MY He|Z 557 (MOt RE EM
oA 0 K a7 ME((PFG, DF LA A 2)
8A 50
AR+ (&9l - mm)
T L IV
t
8H
IHile
M5x0.8
E,,,,ﬁ\t :j—j
DI R
mjﬁ I "T)/ !
1\ q — i
¥

Parker RS

291



EFHC /0¥ 2, HER| DY #AY / PFTKM / PFYKM Al2| =
&r e N
—— _
(I
.}
s =] 1o | ’
! o| af
8 .
M5X0.8 5 41[ ’
f = °l|
d
~0A
PFYKM-5A,/6A/8A,/10A
(4= : mm)
EE) A B c D F G K Y z
PFTKM—1.5A 1.5 27.5 4 11 M5%0.5 7H 0.4
PFTKM—2A 2 27.5 4 11 M5%0.5 7H 0.5
PFTKM—2x 4 2x4 | 275 6 9 M5%0.5 7H 0.5
PFTKM—3.5A 3.5 275 4 11 M5%0.5 7H 0.5
PFTKM—3.5%7 3.5x7 | 275 6 9 M5%0.5 7H 0.8
PFTKM—5A 5 37.5 6.5 18 M10x1.5 14H 0.8
PFTKM—6A 6 37.5 6.5 18 M10x1.5 14H 0.8
PFTKM—8A 8 38 7 18 M10%1.5 14H 1.2
PFTKM—10A 10 38.5 7.5 18 M10x1.5 14H 1.5
PFTKM—15 15 48 8 3 23 M10x1.5 14H 1.9 M5 x 0.8
PFTKM—20 20 50 10 3 23 M10%1.5 14H 2.3 M5 x 0.8
PFTKM—25 25 54 14 3 23 M10x1.5 14H 3 M6 % 1.0
PFTKM—30 30 52 12 3 23 M10x1.5 14H 2 M6 % 1.0
PFTKM—35 35 54 14 3 23 M10x1.5 14H 3 M6 % 1.0
PFTKM—40 40 54 14 3 23 M10x1.5 14H 35 M6 % 1.0
PFTKM—50 50 55 15 3 23 M10x1.5 14H 4 M6 % 1.0
EE A B c D L N P Y z
PFYKM—1.5A 15 315 4 275 | 125 M4Z0|6 7 0.4
PFYKM—2A 2 315 4 275 | 125 M4Zo|6 7 0.5
PFYKM—2x 4 ox4 | 335 6 275 | 125 M4Z0|6 7 0.5
PFYKM—3.5A 35 315 4 275 | 125 M4Z0|6 7 0.5
PFYKM—3.5%7 35%7 | 335 6 275 | 125 M4Z0|6 7 0.8
PFYKM—5A 5 32 6.5 255 | 12.5 M5210]6 7 0.8
PFYKM—6A 6 32 6.5 255 | 12.5 M5210|6 7 0.8
PFYKM—8A 8 325 7 255 | 12.5 M5210]6 7 1.2
PFYKM—10A 10 33 7.5 255 | 12.5 M5210]6 7 15
PFYKM—15 15 30 8 22 14 M620l6 9 1.9 M5 0.8
PFYKM—20 20 32 10 22 14 M620|6 9 2.3 M5 0.8
PFYKM—25 25 46 14 32 20 M620[8 12 3 M6x1.0
PFYKM—30 30 44 12 32 20 M620[8 12 2 M6x1.0
PFYKM—35 35 46 14 32 20 M6Z0[8 12 3 M6x1.0
PFYKM—40 40 46 14 32 20 M6Z0|8 12 3.5 M6x1.0
PFYKM—50 50 47 15 32 20 M620[8 12 4 M6x1.0
m Pneumatic 292




!
4
T
o
ot

<4 0|-_|

0| o
0| ot

Olok | OBy

NAPF (T) S - ( 2A-3 | -

HEX§-AEE3T

@]
o>

I |H| &2
2ol | ojo

pl
o
fel=)
@
o
e
oM

L EE 55°

42| & 55°

mc|lwn|z

=z
m

1.5A-3 | 20B—15
1.5A—6 | 20B—30
2A-3 | 20B—-156
2A—6 | 20B—30
3.5A-3 | 25-6
3.5A—6 | 25-15
5A-3 25-30
5A-6 30-6
6A-3 30-15
6A—6 30-30
8A-3 35-6
8A-6 35-15
10A-3 | 35-30
10A—10 | 40-6
10A-15 | 40-15
16A-3 | 40-30
16A-10 | 50-6
16A—15 | 50-15
20B-6 | 50-30

60,/80,/95

oA

120,150,200

Parker RS

W || >

hl
ok
i=

40




HEME /AZHA 57 25 / NAPFTS / NAPFYS
£l mm)

=g A B C D E F G F’ F A2 (g)
NAPFT/YS—1.5A-3 1.5 4 0.4 39 3 0.49 0.59 6
NAPFT/YS—1.5A—6 1.5 4 0.4 42 6 0.49 0.69 6
NAPFT/YS—2A-3 2 4 0.5 39 3 0.49 0.59 6
NAPFT/YS—2A—6 2 4 0.5 42 6 0.49 0.69 6
NAPFT/YS—3.5A-3 3.5 4 0.5 39 3 0.49 0.59 6
NAPFT/YS—3.5A—6 3.5 4 0.5 42 6 0.49 0.69 6
NAPFT/YS—5A—3 5 6.5 0.8 41.5 3 0.49 0.59 7
NAPFT/YS—5A—6 5 6.5 0.8 44.5 6 0.49 0.69 7
NAPFT/YS—6A-3 6 6.5 0.8 41.5 3 0.49 0.59 7
NAPFT/YS—6A—6 6 6.5 0.8 44.5 6 0.49 0.69 7
NAPFT/YS—8A-3 8 7 1.2 42 3 0.49 0.59 7
NAPFT/YS—8A-6 8 7 1.2 45 6 0.49 0.69 7
NAPFT/YS—10A-3 10 7.5 1.5 55.5 3 23 17 0.61 0.77 18
NAPFT/YS—10A—10 10 7.5 1.5 62.5 10 23 17 0.61 1.17 18.5
NAPFT/YS—10A—15 10 7.5 1.5 75 15 30.5 24.5 0.64 1.17 21
NAPFT/YS—15A-3 15 8 2 56 3 23 17 0.61 0.77 18
NAPFT/YS—15A—10 15 8 2 63 10 23 17 0.61 1.17 18.5
NAPFT/YS—15A-15 15 8 2 75.5 15 30.5 24.5 0.64 1.17 21
NAPFT/YS—20B-6 20 12.5 2.3 80.5 6 36 28 2.45 3.43 65.5
NAPFT/YS—20B-15 20 12.5 2.3 89.5 15 36 28 2.45 4.9 70.5
NAPFT/YS—20B-30 20 12.5 2.3 126.5 30 58 50 2.9 5.88 95.5
NAPFT/YS—25-6 25 14 3 82 6 36 28 2.45 3.43 66
NAPFT/YS—25-15 25 14 3 91 15 36 28 2.45 4.9 71
NAPFT/YS—25-30 25 14 3 128 30 58 50 2.9 5.88 96
NAPFT/YS—30-6 30 12 2 80 6 36 28 2.45 3.43 67
NAPFT/YS—30-15 30 12 2 89 15 36 28 2.45 4.9 72
NAPFT/YS—30-30 30 12 2 126 30 58 50 2.9 5.88 97
NAPFT/YS—35-6 35 14 3 82 6 36 28 2.45 3.43 69.5
NAPFT/YS—-35-15 35 14 3 91 15 36 28 2.45 4.9 74.5
NAPFT/YS—35-30 35 14 3 128 30 58 50 2.9 5.88 99.5
NAPFT/YS—40-6 40 14 3.5 82 6 36 28 2.45 3.43 71
NAPFT/YS—40-15 40 14 3.5 91 15 36 28 2.45 4.9 76
NAPFT/YS—40-30 40 14 3.5 128 30 58 50 2.9 5.88 101
NAPFT/YS—50-6 50 15 4 83 6 36 28 2.45 3.43 80
NAPFT/YS—-50-15 50 15 4 92 15 36 28 2.45 4.9 85
NAPFT/YS—50-30 50 15 4 129 30 58 50 2.9 5.88 110
NAPFT/YS—60-10 60 18.5 5 125.5 20 8.82 11.8 282.5
NAPFT/YS—60-30 60 18.5 5 155.5 50 6.76 15.6 316.5
NAPFT/YS—60-50 60 18.5 5 180.5 75 8.33 19.6 343.5
NAPFT/YS—-80-10 80 20.5 6 127.5 20 8.82 11.8 310.5
NAPFT/YS—80-30 80 20.5 6 157.5 50 6.76 15.6 344.5
NAPFT/YS—80-50 80 20.5 6 182.5 75 8.33 19.6 371.5
NAPFT/YS—-95-10 95 21 6 128 20 8.82 11.8 350.5
NAPFT/YS—95-30 95 21 6 158 50 6.76 15.6 384.5
NAPFT/YS—95-50 5 21 6 182 75 8.33 19.6 411.5
NAPFT/YS—120-20 120 24 6 157 35 15.6 29.4 1165
NAPFT/YS—120-50 120 24 6 197 75 14.7 29.4 1246
NAPFT/YS—150-20 150 31 9 164 35 15.6 29.4 1389
NAPFT/YS—150-50 150 31 9 204 75 14.7 29.4 1470
NAPFT/YS—200-20 200 36 13 169 35 15.6 29.4 1755
NAPFT/YS—200-50 200 36 13 209 75 14.7 29.4 1836
F)F:02EZIA AYZHN), F: AHAEZIA 22

7= 2

°E o4 °F @6
T 0.5 1.5
¢) 2.5 4.5
m Pneumatic 294



At 8% UR| B

H Al2|=

FEYA
NAPF [T/ H - [ 2A-3 | -
USFHE Y HExE

- ErTe HEXE-2AERT =5 S

Y =urs 1.5A-3 5A—10 20B-30 T PPN
1.5A-10 | 5A-15 25-6 0 SE A A
1.5A-15 | 6A-3 25-15
2A-3 6A—10 25-30
2A-10 6A—15 30-6
2A—15 8A-3 30-15
Sots [onis [ aee | ¢ DM R ASH
3.5A-15 | 10A-3 35-15 N LEZ 55° (24
2X4A-3 10A-10 | 35-30 S A2|Z 55° (A
2X4A-10 | 10A-15 40-6 u e e 550 (HA)
2X4A-15 | 15A-3 40-15 F EFQE 70° (WMt EESM)
3.5X7A=3 | 15A—10 | 40-30 NE =X UEZ 70° (HMAIRRE S4)
3.5X7A-10| 15A—15 | 50-6 SE cHY HelE 55° (HMDIAFE S4)
3.5X7A—15 20B-6 50-15 K 27 ME(PFG, DF LA A 2l)
5A—3 20B-15 50-30

2|§I|¢E (&2l mm)

SA/6A/8A/10A/15A

208,/25,30,/35./40,/50

Parker RS

295



FH

Zojc / Az

1=

27 A8, S|MYKIE / NAPFTH / NAPFYH Al2|=

(2l - mm)

=9 A B ¢ D E F G H F' R
NAPCT/YH-1.5A—3 1.5 0.4 50 3 23 17 027 | 043 | 155
NAPCT/YH-1.5A—10 1.5 0.4 57 10 23 17 027 | 082 17
NAPCT/YH-1.5A—15 1.5 0.4 | 69.5 15 305 | 245 029 | 0.83 20
NAPCT/YH-2A-3 2 0.5 50 3 23 17 027 | 043 | 155
NAPCT/YH-2A-10 2 0.5 57 10 23 17 027 | 082 17
NAPCT/YH-2A-15 2 0.5 | 69.5 15 30.5 | 245 029 | 0.83 20
NAPCT/YH-3.5A—3 3.5 0.5 50 3 23 17 027 | 043 | 155
NAPCT/YH-3.5A—10 3.5 0.5 57 10 23 17 027 | 082 17
NAPCT/YH-3.5A—15 3.5 05 | 69.5 15 305 | 245 029 | 0.83 20
NAPCT/YH-2Xx4A-3 | 2x4 0.5 52 3 23 17 027 | 043 | 155
NAPCT/YH-2Xx4A—-10| 2x4 0.5 59 10 23 17 027 | 082 17
NAPCT/YH-2Xx4A—-15| 2x4 05 | 715 15 305 | 245 029 | 0.83 20
NAPCT/YH-3.56x7A—3 | 3.5x7 0.8 52 3 23 17 027 | 043 | 155
NAPCT/YH-3.5%7A—10| 3.5X7 0.8 59 10 23 17 027 | 082 17
NAPCT/YH-3.5%7A—15 | 3.5X7 08 | 715 15 305 | 245 029 | 0.83 20
NAPCT/YH-5A-3 5 6.5 0.8 | 54.5 3 23 17 1.4 0.61 0.77 18
NAPCT/YH-5A—10 5 6.5 0.8 | 61.5 10 23 17 1.4 0.61 117 | 185
NAPCT/YH-5A-15 5 6.5 0.8 74 15 30.5 | 245 1.4 064 | 117 | 215
NAPCT/YH-6A—5 6 6.5 0.8 | 54.5 3 23 17 2 0.61 0.77 18
NAPCT/YH-6A—15 6 6.5 0.8 | 61.5 10 23 17 2 0.61 117 | 185
NAPCT/YH-6A—30 6 6.5 0.8 74 15 305 | 245 2 064 | 117 | 215
NAPCT/YH-8A-3 8 7 1.2 55 3 23 17 2 0.61 0.77 18
NAPCT/YH-8A—15 8 7 1.2 62 10 23 17 2 0.61 117 | 185
NAPCT/YH-8A-30 8 7 1.2 | 745 15 305 | 245 2 064 | 117 | 215
NAPCT/YH-10A-3 10 7.5 1.5 | 55.5 3 23 17 2 0.61 0.77 | 185
NAPCT/YH-10A-15 10 7.5 1.5 | 625 10 23 17 2 0.61 117 19
NAPCT/YH-10A-30 10 7.5 1.5 75 15 30.5 | 245 2 0.64 | 117 22
NAPCT/YH-15A-3 15 8 2 56 3 23 17 2 0.61 0.77 | 185
NAPCT/YH-15A—10 15 8 2 63 10 23 17 2 0.61 117 19
NAPCT/YH-15A—15 15 8 2 75.5 15 30.5 | 245 2 0.64 | 1.17 22
NAPCT/YH-20B—6 20 12.5 23 | 805 6 36 28 245 | 3.43 64
NAPCT/YH-20B—15 20 12.5 23 | 895 10 36 28 2.45 4.9 69
NAPCT/YH-20B—30 20 12.5 23 | 126 15 58 50 2.9 5.88 93
NAPCT/YH-25-6 25 14 3 82 6 36 28 245 | 3.43 | 645
NAPCT/YH-25-15 25 14 3 91 10 36 28 2.45 4.9 69.5
NAPCT/YH-25-30 25 14 3 128 15 58 50 2.9 588 | 93.5
NAPCT/YH-30-6 30 12 2 80 6 36 28 245 | 3.43 | 655
NAPCT/YH-30—-15 30 12 2 89 10 36 28 2.45 4.9 70.5
NAPCT/YH-30—-30 30 12 2 126 15 58 50 2.9 588 | 945
NAPCT/YH-35-6 35 14 3 82 6 36 28 245 | 3.43 68
NAPCT/YH-35-15 35 14 3 91 10 36 28 2.45 4.9 73
NAPCT/YH-35-30 35 14 3 128 15 58 50 2.9 5.88 97
NAPCT/YH-40-6 40 14 3.5 82 6 36 28 245 | 3.43 | 965
NAPCT/YH-40—-15 40 14 3.5 91 10 36 28 2.45 4.9 74.5
NAPCT/YH-40—-30 40 14 3.5 128 15 58 50 2.9 588 | 98.5
NAPCT/YH-50-6 50 15 4 93 6 36 28 245 | 3.43 78
NAPCT/YH-50—15 50 15 4 92 10 36 28 2.45 4.9 83
NAPCT/YH-50—-30 50 15 4 129 15 58 50 2.9 5.88 107

F)F 0 AERIA AYZEE(N), P2 ZHAEZ A AZZE(N)

7HEE 2E
2AE 24 2B 6
T 0.5 1.5
o 2.5 4.5

m Pneumatic 296



	1.Actuator 
	2.Valve
	3.Vacuum
	Vacuum Generator
	Vacuum Switch
	Vacuum Sensor
	Vacuum Pad
	PA
	PC
	PF
	PJ
	PU
	PS

	Vacuum Accessory

	4.FRL Unit
	5.Accessory
	6.Electric



